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FTSE100 669542 (+0.39%)

DAX30 10063.13 (-0.04%)

CAC40 4357.74 (-0.34%)

One must desire something to be alive.
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2y 0.69% (+2.2bp)

10y 1.58% (+3.1bp)

30y 2.29% (+2.9bp)
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d= 0.82% (-0.9bp)
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A 0.21% (-1.7bp)

O|et2|o}  1.25% (-0.4bp)

AT QI 1.24% (+1.4bp)

d2|A  7.68% (+4.0bp)
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SE/2H 1.1075 (+0.0046)

SE/H 117.57 (+1.96)

2f/l 106.14 (+1.31)

=Fe{/9 ot 6.6961 (+0.0156)

oo C/sty 132518 (+0.00676)
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WTI 45.24 (-1.60%)

COMEXE@ 132930 (+0.10%)
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[AT 2021.11 (+0.19%)

AAE 700.90 (+0.09%)

91/=t2f 113830, F(1135.00%)

KTB: A|Z} 111.09 / &7} 111.08

LKTB: A|Z7} 13336 / &7} 133.37

St AYALXF 27|24 (MoM) (2 H:0.2%, O|7F:0.1%)
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3y 1229%  (+0.8bp)
Sy 1.253%  (+1.2bp)
10y  1415%  (+2.3bp)

CcD 1.360% (Obp)
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7. 2E-Ag AmgE

3y -2.7bp (+0.2bp)
Sy -4.1bp (+0.8bp)
10y -145bp  (+0.5bp)

8. IRS/CRS &%

* IRS: IRS 22|= A5 OFzZh x| A|ZD HE810] A|RS
AMZS

ChAl HEE EHE2= 25

1Y 12475% (+0.75bp)

2Y 1.2075% (+0.75bp)

3y  12025% (+1.00bp)

5Y 12125% (+2.00bp)

7Y  12250%  (+2.25bp)

10Y 1.2700% (+2.75bp)

12Y  -400 (Obp)

2*3Y 050  (+0.25bp)

2*5Y 050 (+1.25bp)

3*5Y  1.00 (+1.00bp)

5*7Y 125 (+0.25bp)

5*10Y 575 (+0.75bp)
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0|=-68 d=5]7HMoM) (0]7:0.7%, 0f4:0.6%)

ZEEh 2H2(MoM) (0| 7:-0.3%, 0|41:0.5%)

d=-62 CPI(MoM) (0| F:0.2%, 0f| AH:021%)
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